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QUESTION 1

What can be configured within a policy? 

A. alert notifications 

B. symptom definition threshold overrides 

C. custom group membership criteria 

D. symptom definition operator overrides 

Correct Answer: B 

 

QUESTION 2

Which dashboard widget provides a two-dimensional relationship? 

A. Heat Map 

B. Object Selector 

C. Scoreboard 

D. Top N 

Correct Answer: A 

 

QUESTION 3

A user wants to create a super metric and apply it to a custom group to capture the total of CPU Demand (MHz) of
virtual machines that are children of the custom group. 

Which super metric function would be used to accomplish this? 

A. Average 

B. Max 

C. Sum 

D. Count 

Correct Answer: C 

 

QUESTION 4

What would cause a cluster to appear red, even though it is optimized? 
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A. The cluster is out of balance. 

B. The cluster is out of Business Intent compliance. 

C. The cluster capacity has few or no days remaining. 

D. The cluster is out of Operational Intent compliance. 

Correct Answer: C 

 

QUESTION 5

An interaction is created from an Object List to a Scoreboard widget in a dashboard. The data does not change when
selecting different objects in the Object List widget. 

What could cause this behavior? 

A. Permissions to the associated objects are enabled. 

B. The interaction is hidden. 

C. The Dashboard has not been shared. 

D. The Self Provider radio button in the Scoreboard widget is set to On. 

Correct Answer: D 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-582234A0-79BE-49D6-9E8D-983A71A8D722.html 
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